10734 [ s rh 37 S3 Bl R oh AR R # A s (30133811/19~11/23)

EH 701 |0 70200 7030 704 17050 706 i /07 708 709 | 710 | 711 712
H=-EEG50%) | 45 47 46 44 47 49 49 50 49 50 46 50
AMFE(50%) 50.0 | 49.0 | 490 | 480 | 480 | 485 | 450 | 50.0 | 480 | 480 | 490 | 50.0
CEl 95.0 | 96,0 | 950 | 92.0 | 95.0.| 97,5 940 |100.0 | 970 | 93.0 | 950 00
NER 801 802 | 803 804 | 805 | 806 | 807 | 808 | 809 | 810 | 811 | 812
= -E5(50%) 31 55 48 43 41 44 40 32 47 24/ 36 a9
HMFIE (50%) 500 215000 [ 47.5 | B00 | 46,55 [#50.0 o 480 | 450 [ 500 | 500 | 450 | 470
aat 101.0. |.105.0 | 955 | 93.0 | 87.5..|<94.0+] 880 | 77.0 | 97.0 | 770 | 81.0 | 86,0
NER 901 | 902 | 903 | 904 905 | 906 | 907 | 908 |- 909 | 910 | 911 | 912 | 913
=z -EE(50%) 46 49 46 44 49 48 50 43 44 46 49 50 47
SMFER(50%) 470 | 50.07| 445 | 49.0 | 480" |wb0.0 5| 490 | 475 | 490 | 490 | 500 | 490 | 490
=E 93.0 | 99.0 | 905 | 93.0 | 97.0 | 98.0 | 99.0 | 90.5 | 93.0 | 950 | 99.0 | 99.0 | 96.0
v
s g | TR . a . 2/ g 2 .
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VAR B FifE : 902.907.911.912
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